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1275/t EREREE(@HHEERBRAREHER) SHEHFER: THOUSE 5478,840 5,478,840
1275/t EREHSE @A EERRHREHER) SHEHFER: LHORAER 12,695,400 12,695,400
1275/t ERERSE @A EERRHREHER) EHETHER: LHOFHEETE 733,320 733,320
Ei ERERSE @A EERRHREHER) E2HETFES: TEDOLTERER 506,520 506,520
Ei EREHSEE @A EERRHREHER) SHBEHHER: THEMCER) ORGE 11,230,920 11,230,920
B EREFS X @ T EERRFREHER) EHETHER: THENUER) ORGHE 13,924,440 13,924,440
1075/L# ERREREE CLARETE B ILATER) JLARTE BILATER : T b DMFHERES 1,743,120 1,743,120
BY- Ty FKEEMEEREE FOKIREE $1-05EG BRAE BERBR 0 0
j-32) FKEEMEEREE HKIREE : EMERRE BERBR 0 0
j-32) FKEEMEEREE KRR AT DD B RE BERBR 0 0
REM ELRRFREEERES ELRFREEEREE HEREEBER RER 0 0
REM ELRRFREEERES ELERFREEEHEE: A REF 0 0
REM ELRRFREEERES ELERFREEEREE: AAE RER 0 0
BR BERBREHBETES EEEREEEAE. R EBER BHOKEEHSR 6,499,227 6,499,227
j-32) KBHET7) —TREEE (¥R KIBFE2HB7 T HRIERHEBER AR—viitR 0 0
j-32) KBHE7) —TRESE (¥R KBFE2HR7 VT HEI AR RHEBER AR—Viit R 0 0
j-32) KBHET7) —TRESE (¥R KBFE2HR7 ) —TREABTHEREEBER AR—viit R 0 0
EHER B LB REEE BEAEE LRESARENEREIERHEBER AR—Viit R 0 0
IEY AN IRIEEE SERFEIAISS I E AR EBRRN bRl ES 0 0
IEY AN IRIEEE SERAIE) R RS EBR bRlllE: A ES 0 0
B N\FHBRBARERHTREEE (REER) NFathXEARERRRAEEBREN bRk ES 0 0
BYABES | KBISa=TAISYEREE KBS =TAISY ARG RS TERMRAFS B4 i IRER 92,141,000 92,141,000
REM ELRRFREEERES ELERFREEEHEE: ABIRBEES RER 0 0
REM ELRFREEERES ELERFREERHER RHES 0 0
REM LARFREERHEE LARFREEARHEE - BRAE 0 0
REM AURFRBEARHEE AVRFRBEARHEE: AAE 0 0
REM LARFREERHEE FARFREERHEE HERE 0 0
Tih EREHEE(BRIKEREDER) MENYFABRERSRIE: THOAEE 0 0
tit EREHREE(RIREERDER) BN FABRERYRIE: THOREE 0 0
IHEY EREHEE(BRIKEREDER) MEmY AR RERRRIE: TEOUERHE 0 0
Ei EREHE R (BT ERRM) B ERR: TOREE 1,542,492 1,542,492
Ei EREHER (BT ERRM) [ikes 2,346,840 2,346,840
12735/t EREHEX BHHEERRARTHER) S2HEHHER: THOREE 106,961,000 106,961,000
1275/t EREHEX BHHEERRARTHER) S2HEHHER: THOBER 492,494,000 492,494,000
Ei EREHER RERTHER REFFHER: TENOIEE 411,480 411,480
S BREHSE EMIBR) R HREIBIE: THEYOE 496,800 0
ety N\FHERERERZEEE (BEER) NFathXEARERF XTI CBRABEBRRE bRllEAR2ES 0 0
ety N\FHEREREREFEEE (BEER) NFathREARERFH TR ERARSRHEBERE bRllER2ES 0 0
IEY BHAEEHRSE ERAENESENERBRAIEEBES HMHERHR 0 0
IEY EHABRERSE BEAENEE AN EREEXS HMHERHR 0 0
IEY BHABRERSE BEAENER A ERERH XS HMHEHR 0 0
IEY EHABRERSE EEAEYINMR—LISH R EXHET HMHEHR 0 0
IEY BREAEEHREX ERAEY ML R I EEBER HMHEHR 1,161,000 1,161,000
IEY EHABRERSE ERABEEEET EMCBRATERRR HMHERHR 0 0
I BREAEEHREX BHEARMGEXERCBRATXBE HMATEMHR 207,360 207,360
I BHAEEHREE BERAEY M LIS EERER A EB R MHEHR 0 0
37 IHRERRREME SR REE IREERSEMEEREICHIBEREEB SR B REBEEMNE 0 0
I HMEEREER BERRTHERRBBELS EREE 29,934,360 29,934,360
Tith THFSEREE FEUFSREEE THEREHEEBRR R 0 0
37 RBERET)—FREEE KRERESER G ERAEEBRR AR—VHEHER 0 0
37 KRS MERREE HOKEAE: 518 BERBR 0 0
37 KRS MERREE HOKIEEE: TH BERBR 0 0
I KRS MERREE EL L] BERBR 0 0
Tith MEEER THESTRTHN IS BEPR: MIBRXEER1568FZ) FMERMR 0 0
By BRI 7 N\ AU TE 0 0
tih FRREEHESRFERERHEBRR 464,400 464,400
Tith FHREEHESERIEEBER 367,200 367,200
EMiEEER P =TT BB —ERRMEH T ERMRERE | REOWIHEER 0 0
Tith RUEEAARRBER MEREEEEE 0 0
Tith BHDBRLEHEUEABERERBER MEREEEEE 0 0
KB BERKBUKRIE: thY F i RATRH EBERR BWKEERR 2,516,400 2,516,400
f=&hith BaROhBENRRAEE(ZONER BHOKEEMR 1,942,920 1,942,920
f=sith Wi TE BWKEERFR 3,500,000 3,500,000
f=&hith Bitf=hitsiE T E BHOKEEMR 1,500,000 1,500,000
ZOMIEY EREF28-8-15 HKMEMNERIHEBER BHER 1,475,280 1,475,280
BEMRRE |TEEER LRHRF (T ABEIFES (EARRREIE - TEFHAR)  |BHEUR 0 0
BREMRHRIR TEERR ERHRE(TE)AEE1 TS (RHARMRE IR IREE RN | AEHE 0 0
BEMRRE |[TEEER EHHERF(FE) ARE1FE (ERRHRIETERE- FAEMR 0 0
BEMRRE |[TEERR LRHRHF (TS ABEITES (REERFEIETEREH-ZRH |BHEUR 0 0
je3y) MEEER FHEMEREXRBRE(RB-TEHRN) FAEMR 169,722 169,722
I ERANIEIRIEEE HERAIE BB i i AERRIR 0 0
TEY AN IRIEEE ERANIFNIBSIETE ANOTIER A RRIR 0 0
Tith ATt EEERHHRERR (ARER) NFHthXERERFRTIE ERABUEXEBEERRGIRLS)  |AIBEDHER 0 0
Tith ATt EEERHHRERR (ARER) NFHtRERERTRTE ERARE CRIRERHFT~OFHE |A)IEFHR 0 0
j-32) IMMERRREMEERERE IME BRSNS ERERRRHER IHERERERE 0 0
I FKEEMERHEE $1-2-35H15  FIREE BELBR 0 0
j-32) FKEEMERHEE FIEHEIBRINL R BELBR 0 0
I FKEEMERHEE FISRHS TS BELBR 0 0
I FKEEMERHEE E1EEIS ERTH BELBR 0 0
j-32) FKEEMERHEE FIEEBRAMML BRRHTE BELBR 0 0
j-32) FKEEMERHEE FIEEBRIML AHIE BELBR 0 0
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I FKEEMEEHEE FIEES TS BERBR 0 0
Tt EREREE(RIREREIDER) FELYFABRERKETE: THORES BB 0 0
Tt EREREE(RIREREIDER) FELS R BRERRETE: T OREGE EER 0 0
Tt EREREE(RIREREDER) FELY KB RERKETE: TORmES 0 0
EE ERERBEOKEEIE-TER TEKEERAE - TERERYRIE  THOOIES 0 0
EE EREREE (PR FEPRGERKBETE: THRYORHE 0 0
EE EREREE (PR TEPRGERKBETE: THRPOTER 0 0
T EREREE(BHHEEREABRTHRR) EHEHHER: THONEE 109,622,000 109,622,000
T EREREE(WHHEEREABRTHRR) EHEHHER: THORER 274,122,000 274,122,000
EE ERERBENREBRIR INERRITHR: THPMOIER 0 0
EE ERERBENREBRIR INERRITHR: OGS 0 0
EE ERERBENREBRIR INERRITHR: T0mES 0 0
LS BRMEEEX FHLE REBIE: THEPOIEE 152,369,000 152,369,000
[ BRERSE ERIER) GiR) ARIIBIE THEPOTEH 142,167,000 0
B EREREE(F=H—REHR) TEH—REHR: THFHOIEHE 11,557,000 11,557,000
Ei EREHER (SRILRR) SRR THEPOTER 7,298,000 7,298,000
E EREHEE (PETER) fHETIR: THRYOTER 0 0
Ei ERREEHE R (FRTIEFHR) SRR FHR: THEMOTER 37,374,000 37,374,000
Ei EREFEE(BERA+AFHR) BR+AHR: THENOIEH 14,818,000 14,818,000
Ei EREHFEE(ERA+AFHR) BR+AHR: LhOREGE 1,246,000 1,246,000
Ei BEREFREE(KE2T H295#) KE2TH2OEH: THEPOIEH 0 0
E EBREREEMNREBRIR INERRITHR: THRPOIER 0 0
E EREHREE (BBFHMSH) BERMASHR: TENDIES 0 0
E EBREHREE(XRISH) KBISHR THEPOTER 0 0
Ei ERREHE R (KR32254) KiB3225 4 THRMODIEE 0 0
Ei EREHE R CFLUERISHR) FILE# ISR TEDOIEE 14,509,000 14,509,000
Ek EREREE(TEHFTEHHR THEHTEHHR TENOIEE 0 0
Ek ERERSECRETZEEERE(ESEITH) EREIEASHREAREEITE)  TEYPOIEE 0 0
Ek ERBHEE LI TEISH) LI TEISHK: TEMDIES 0 0
Ek EREHEE (FELRLERR) HRILEERERE: TENOTIER 0 0
Ek EREHEE(RELAS-ITER FBWES- 1 TEH: THEPOIEE 0 0
Ek EREHEE (LRMATERR2SH) LRAMAERB SR THEPOIER 0 0
Ek EREHREE(BEEAR BEERG: TENDIES 0 0
Ek EREREE BBREASER) ERHASER: TENOIER 0 0
Ei EREHRE(KHST BEISH) AT BEMI 54 THOREHE 6,794,000 6,794,000
ER EREHEE(KIST B EH1S4) AFIST BE2 G4 THhORER 1,512,000 1,512,000
ER EREHEE(KIST B EH1SH4) AFST BEM2 G4 THRMOITHH 5,197,000 5,197,000
Eik EBREHRSEEETEER) EHITESH: THMOIEE 0 0
ER EREHSE G THSH) I TH6S#H: TEPMOITEHR 0 0
Eik EBREREECLBER JLER: TEMDIES 0 0
ER EREHER (FHETRER FHETRAR: TENOIEE 14,519,000 14,519,000
Eik EBREHREE(C/\TER) SN\TES: TEMDIESE 0 0
Eik EREHEE (S BRER) AR THENOTIEE 0 0
Eik EBREREE(LFEFARR) EhETEES: TENOTIER 0 0
Eik EBREHEE (TR TRANGHR: THEDOTIEE 0 0
ER EREHEE(BHHEERIARTHER) EHEHFEZ: TENOIER 502,200 502,200
ER EREHEE(BHHEERIARTHER) SHEHHAR: TEHOREHE 16,233,480 16,233,480
ER EREHEE(BHHEERIARTHER) RARTHER: THORER 1,283,040 1,283,040
ER EREHEE(BHHEERIARTHER) RARTHER: THOMNER 340,200 340,200
ER EREHEE(BHHEERIARTHER) RARTHER: THORSGH 96,052,527 96,052,527
ER EREHEE(BHHEERIARTHER) RARTHER: THOMEE 255,201,155 255,201,155
REM EIZHEHREEREHEE ETRRFREERHER - FEIS 0 0
REM ETIZHEHREEREHSEE ETRRFREERHEE EEEH 0 0
REM AIARFREEBHEE RARFREEEHER ERTF 0 0
REM AIARFREEBHEE RIARFREEBHER EMmRE 0 0
REM HURFREEEREX AURFREEAEREX LHERE 0 0
REM HURFREEEREX HURFREEERBEE EMEE 0 0
I NTFiathXEEERHHRERE (FREER) NFiHtXERERFR TR EREXBERR A ERIAR 0 0
I NTFiathXEEERFHRERE (ARER) N\Fiith X EEERRTE: HEMER TR EBER A RRIAR 0 0
I NTFithXEEERHHRERE (ARER) N\FiditXEEERSRTE HEMEETE A RERIAR 0 0
I NTFiathXEEERFHRERE (ARER) NFiathXEEERFRTE ERIRIE A RRIAR 0 0
Tith LHRBEREE FLBFERREE AREBERR EALE 0 0
Tith LHRBEREE HLBFERREE hEAEEBER & 0 0
M IHERRSENEERESE IHERRSEMENREIS BYOSER 0 0
M IHEERSEMNEERESE IHERRSEMENREIS BYOIER B REBZRIE 0 0
REM BARFREEEHEE FARFREERHEE DEBEHEY RER 0 0
I BREAERRBEX BHAENEEFEERGAREBRR R 1,864,080 1,864,080
I BREAERRBEX BHAENEEFEEERRAEBRR R 4,104,000 4,104,000
ER EREREX(BEEAHMSRIFN) BERRIE B 0 0
E EHREREEX(BEEAMMSRIFN) MR E i 0 0
B EREHEE CLARTEH ILETR) REREBER 1,558,440 1,558,440
B EREHEE CLARTEH ILATR) THEEEXBRR 214,920 214,920
ER ERERBE B IEEREL) THEETEEBER 365,040 365,040
ER ERERBE B IEEREL) ERHRIE 6,900,000 6,900,000
ER ERERBE B IEEREL) FAERE 3,440,377 3,440,377
B ERERBE (RPE=9—BR) FAAEEBER 362,880 362,880
B ERERBE (RPE=9—BR) RRBREAEBERR 3,975,480 3,975,480
B ERERBE(RPE=9—BR) AEEBER 1,550,880 1,550,880
B EREREE CXETZRERRE(EFITH)) BiERRISE 8,907,840 8,907,840
B EREREE CXETZRERRE(EFITH)) iR 2,147,785 2,147,785
EB EREHEEX(ERLE=-—TEKEN) BERRIE 0 0
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EB EREREE(PEREELABRR) RAEEBERR 0 0
EB EREREE(TPEREELABRR) WHREEBERR 0 0
EB EREREXE(TPEREELABRR) jpl EBRE(ER) 0 0
EB EREREE(PEREELABRR) BRI EBER(BR) 0 0
EE EREREXE(PEREELABRR) RASEBERR 0 0
EE EREREE(TEHREELABRR) THEREEEBER 0 0
EE ERBHEE (EREMILR) RAEEBERR 0 0
B EREHEE CXELEASERECRENMTHE) RS RBER 1,073,520 1,073,520
B EREHEE CXELEASERECRENMTH) FAMBEXBER 529,200 529,200
EE EREREEEE—TE6SHRIFN) BiERRIE 0 0
B EREREE CNTERRRIEN) BIRREAEBER 3,557,520 3,557,520
B ERERBEFEHR) FHEEETXBER 156,600 156,600
B ERRE RS X (KA LER) RS RBER 340,200 340,200
B ERRE RS X (KA LER) FAMBEXBER 328,320 328,320
B ERRE RS R (KA LER) hitEEE 1,409,450 1,409,450
Ei EREHER (FAEZTHI1054) RIRBRERBER 671,760 671,760
Ei EREHER (FAE=TH1054) RS XBER 706,320 706,320
Ei EREHER (FAEZTH1054) THREXBER 91,800 91,800
Ei EREHER (FAE=THISHK) RIRBREXBER 1,122,120 1,122,120
Ei ERREHER GLARTET BHRR) RIRBREAXBER 905,040 905,040
Ei ERREHER GLARTET BHRR) RS XBER 135,000 135,000
E EREHREE (BHFHERFER) ARRAEBERR 0 0
E EREHREE (BHFHERFER) BERRIE 0 0
E EREREE (BHFHERFER) MREE 0 0
Ei ERREEHE R GRERILATER) RS XBER 447,206 447,206
Ei ERREHE R REBILATER) RIRBREXBER 4,424,760 4,424,760
Ei ERREHE R REBILATER) RBAEXBER 1,148,608 1,148,608
Ei ERREHE R REBILATER) THREXBER 97,200 97,200
Ei EREHE R (FRILRR) THERETEXBER 156,600 156,600
Ei EREHE R (SRIERR) SEHHIE 7,011,360 7,011,360
Ei EREHEER(ER+H2HR) SEHHIE 19,297,440 19,297,440
Ei BRMELEX Mg HREXBER 259,200 259,200
Ei BRMELEX AIREERMEREBRR 2,343,600 2,343,600
Ei BRMELEX BERHEBERR 496,800 496,800
Ei BRMELEX MEMBRIE 5,600,000 5,600,000
ER BRMELEE [EdGE: 53,500,000 53,500,000
ER BRMELEE [EdGE: 30,600,000 30,600,000
ER BREHREERIIE IBiEET S 11,900,000 0
ER BREHSE EMIIE) itETE 3,359,880 0
ER BREHRE ARG BRAEAES 1,298,600 0
ER BREHREERIIE hitEE 5,013,622 0
ER BREHS X (FREHE) BRMEHEIE 81,302,000 0
Eik EBREREE(WIFAAEHR) DEUEBAE 0 0
Eik EREREE(WIFAABHR) HiE BERUEES 0 0
ER EREHEE (RABRGHER) DEREBAR 11,818,000 11,818,000
ER EREHEE (RARTHER) i RERVEHS 18,919,000 18,919,000
ER EREHEE FRTIBHR) SEHRTE 66,659,000 66,659,000
EE EREHEE FTISHR) HiE BERUEES 83,000 83,000
EE EBREHREE(WIAABHR) ERHRIE 0 0
ER EREHEEE(FHE TRER) ERBRIE 20,182,000 20,182,000
etz EREHE X (FBILETEHERER) BiERRIE 0 0
ER BEREHE X (LBANETREEB2SHR) BiERRIE 0 0
etz EREHEE (KBISH) ERBRIE 0 0
etz BEREHRE (KB3225H) BiERRIE 0 0
ER EREHEE(KNATHISHRIFHN) RERFER 7,888,000 7,888,000
SERE EREHRE(KNMAET B15KEH) REXBZRREN 1,918,000 1,918,000
B ERERBE(KNETBISRKEL) RliBREISE 4,390,000 4,390,000
B ERERBE(KNETBISRKEL) i HERUEMNE 543,000 543,000
SERE EREREE GBAI=TB®R) ERBRIE 0 0
SERE EREREE EBA=TE®RR) i HERUEMNE 0 0
SERE EREREE (BREEARR(LERKEN) BFRRIE 0 0
B EREREE (LA SRIEN) RiBRREISE 11,002,000 11,002,000
SERE EREREEB1SH) RERGEBER 0 0
SERE EREREE (THETLHBER) REEH il 854,000 854,000
E EHREREX(THT LR 3 3,171,000 3,171,000
ER BRMRIEEX FRER) 259,000 0
ER BRMRIEEXFRER) 2,841,000 0
ER BRMRIEEXFRER) BRMEHBIS 89,700,000 0
ER EREREX BIREDER) RIBBRE RN 497,000 497,000
ER EREREX BIREDER) THBEXBERR 156,000 156,000
ER EREREX (FHERAHRR) RIBBRE RN 10,590,000 10,590,000
ER EREREX (FHERAHRR) THBEXBERR 758,000 758,000
ER EREREX (RABRTHEAR) FHH 16,000 16,000
ER EREREX (RABRTHEAR) RBEFER 842,000 842,000
ER EREREX (RABRTHEAR) FBEGEEREN 898,000 898,000
B EREREE (BRHABRTHER) EhakEt 5,797,000 5,797,000
B EREREE (BRHABRETHEAR) AEXRBREN 19,353,000 19,353,000
B EREREE (BRHABRETHEAR) ERHRIE 96,633,000 96,633,000
B EREREE (BRHABRTHER) DNEMEBAR 14,096,000 14,096,000
B EREREE (BRHABRTHER) Wi AER VRS 69,758,000 69,758,000
B ERERSEOREN PR AEXRBREN 422,000 422,000
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Ei ERERSEOREN PR DEREBAR 1,035,000 1,035,000
Ei ERERSE OREN PR WIE ERURES 2,720,000 2,720,000
Ei ERERS X ORENRR) 2 5 701,000 701,000
EB EREREEFER 4 0 0
Ei EREREE (B ERRELEN) 1,145,000 1,145,000
B EREHSE X (RXRELAYER) 4,008,000 4,008,000
EE ERERBXOLEREER 0 0
B ERERS X (RER) 2,183,000 2,183,000
il B RETSHBR HEEREE BHOKEEHSR 0 0
j-32) (%5 LRHHERT7)—T R REE (ARERTE) (5 #r) LRE7Y—F AR—vititR 0 0
j-32) (%R LRV T EREE RERRERTISE) (5 #r) LIRB7Y—F AR—ViitR 0 0
j-32) (R#R) LRHHER7 )T EREE RERRERED) (5 #r) LRR7Y—F AR—viitR 0 0
Tith LHFSEHEE FLUFSRREE AERAN & 0 0
EE ERERSEE(BBEIBIISHRITH,) BiERRIE E 0 0
EE EREREE(BERAMB34SHRIFN) M BEREY E 0 0
Ei ERREEHE R L AR E B ILATHR) AEXRBERN el 1,760,400 1,760,400
Ei ERREEHE R L AR E B ILATHR) ERRFAEAR el 2,631,846 2,631,846
Ei ERREEHE R L AR E B ILATHR) B EmEN el 9,296,828 9,296,828
Ei EREHER (B ERREN) ERBREIS et 36,353,900 36,353,900
Ei EREHER (B ERREN) BN el 2,141,204 2,141,204
E EREHREE (RIREHERDER) ERRREIE E 0 0
Ei EREHER (FHELEFBR) FRERTELH i 468,720 468,720
Ei EREHER (FHELEFBR) ERRAEAR 628,751 628,751
Ei EREHEE BIRETER) RIERT 481,680 481,680
Ei EREHEE BIREPER) AEXRBEREN 302,400 302,400
Ei EREHEEE BIREFER) ERRFAREA R 415,584 415,584
Ei EREHE R CFLUER1SREN) iSRRI E 13,019,600 13,019,600
Ei EREHEE (FEETOSRKRITH,) iSRRI E 32,494,000 32,494,000
Ei EREHER (FREITOSRIEMN) B EmEN 1,638,305 1,638,305
Ek EREHEE (RELARBERREN BERRIE 0 0
Ek EREHEE (RELATRBERREN M BERER 0 0
Ek EHBHEE(FERLE=-—TRKIEHL) BiERRIE 0 0
Ek EHRBHEEE(FERLE=-—TRKIEHN) M BERER 0 0
Ek EREHREE(PARSAEAER) ERAMBAL 0 0
Ek EREHREE(PERSAAER) M BERER 0 0
Eik EBREHEE (LRI SEHFRETE 0 0
ER EREHER (ANAT BEHR1SKEN) flERRIE 7,210,500 7,210,500
Eik EBRERSEEEAZTEER) BliERRIE 0 0
Eik ERERSEEEAZTEER) D BERER 0 0
ety EREHRE(REA—TH6SHEN) flERRIE 0 0
ER EREHS R CNTRRRED) REREE 6,029,100 6,029,100
ER ERREHS R CNTRRRED) RAEXH 1,914,000 1,914,000
ER EREHEE (@R REREES 1,098,200 1,098,200
ER EREHEE (@R REXBREN 998,960 998,960
ER EREHEE (@R ERBRETIS 5,590,200 5,590,200
ER EREHEE (AR ERRFAREAR 425677 425,677
ER EREHEE (AR BN 907,111 907,111
ER ERREHE R CLARIE T BARAR (354)) RIBBRE RN 13,470,060 13,470,060
ER EREHEE (BEAA—TH4SHR) RERFER 1,470,700 0
etz BREHEE(FBAIT—TB45H) THERERTH 497,880 0
ER EREHEE (BEAA—TH4SR) 2,585,520 0
ER EREHEE (BEAA—TH4S5HR) 1,534,500 0
ER EREHEE (BEAA—TH4SHR) ERRAREAR 2,444,300 0
ER EREHEE (BEAA—TH4SHR) B 5,379,933 0
ER BEREHEE(FEAIZTE154) AEEEH 0 0
SERE EREREEFEXEZTEISHR) TENESTE 0 0
SERE EREHREFEAITZTH1SR) REXBZE 0 0
SERE EREHREFAITZTH1SR) ERBRETISE 0 0
SERE EREHEREFAITZTH1SR) ERAEAR 0 0
SERE EREHREFEAITZTH1SR) B 0 0
SERE EREREECLEMAERIEN) BFRRIE 0 0
SERE EREREECLEMAERIEN) B 0 0
B ERERER (FHERHRAR SEHHELSE 60,009,400 60,009,400
B EREREE (REELEYRIEH,) RliBREISE 29,179,700 29,179,700
SERE EREREE (RTHRIERFTER) BFRRIE 0 0
ER ERRE RS X (BRAEIRYLLETHR) FHEGEEREN 365,040 365,040
ER HRRE RS X (BRAEIRYLLETHR) ERRAEALR 1,041,129 1,041,129
B ERERE X RHRILATER) M BEmit 130 130
B EREREE (GHBERFERR) BFRRIE 0 0
B EREFEXEGER BERRIE 0 0
ER EREREE (SRR RBEFER 216,000 216,000
ER ERERBE (SRR REXRBREN 907,200 907,200
ER EREREE (SRR ERRAEALR 110,400 110,400
EH ERERBXE1SHR) THEAEREN 0 0
EH ERERBXE1SHR) ERHRETE 0 0
B ERERBEE1SHR) MRt 0 0
B ERERBE (KN=f=BRKR) THBEREH 10,374,100 10,374,100
B EREREBE (KA BR) i 3,700,000 3,700,000
B ERERBE (PERSELRR) 997,700 997,700
B ERERBE (PERSELRR) 313,866,803 313,866,803
B ERERBE (PERSELRR) 949,000 949,000
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Ei EREREE (PHRSALER) TibfE B 158,800 158,800
Ei EREREE (PHRSALER) SEHHEIS 10,580,392 10,580,392
ety EREREE CLARTET B HRAR (1)) BIEEFEH 1,000,000 1,000,000
Ei EREREE (EHEREFHESESE) RIEEFEH 77,000 77,000
Ei EREREE (EHEREFHESEE) AEXRBERRN 286,000 286,000
B ERERBE(FIERERGIESR) SEHBEIS 9,340,100 9,340,100
B EREREE (FHERBEFHESEE) ERAREAR 159,753 159,753
B EREREE (F1HERBEFHESEE) B EN 4,431,352 4,431,352
B EREREE (F2HERBEFHEEE) FREREETH 590,760 590,760
B EREREE (F2HEREFHESEE) AEXRBERN 1,236,600 1,236,600
B ERERDE (F2ERERAIESER) ERBRETIS 8,426,000 8,426,000
B ERERBE (F2ERBERIESER) ERBRETIS 29,859,700 29,859,700
B ERERBE (F2ERERIESER) BERRIE 15,100,400 15,100,400
B ERERBE (F2ERERIESER) BERRIE 104,399,900 104,399,900
B ERERBE (F2ERERIEER) SEHBEIS 24,287,300 24,287,300
Ei EREHER P2 ERERAEEX) ERRFAEAR 3,756,354 3,756,354
Ei EREHER F2ERERAEEX) B EmEN 13,201,872 13,201,872
Ei BRMELEX BRMEHEISE 137,966,160 137,966,160
Ei BREFRE ERIER) FR) BREEIE 17,009,440 0
Ei BRMELEX E3iE * 1,288,800 1,288,800
Ei BRMELEX AEXRBERN 410,400 410,400
Ei BREFREERIER) FR) BREEIE 16,700,000 0
Ei BREFREERIER) FR) B EmEN 1,147,069 0
Ei EREHER (RARTHER) THREZRRN 1,736,900 1,736,900
Ei EREHER (RARTHER) ErEERE RN 759,000 759,000
Ei EREHEER (RARTHER) ERBREIS 12,053,920 12,053,920
Ei EREHEEX (RABRTHER) HiE. AERVEES 10,570,100 10,570,100
Ei EREHEER (RARTHER) AEXBERREN 1,048,400 1,048,400
Ei EREHEER (RABRTHER) THERTEBERN 301,320 301,320
Ei EREHEEX (RABRTHER) AIERFER 2,182,400 2,182,400
Ei EREHEER (RARTHER) EEEREt RN 1,723,700 1,723,700
Ei EREHEEX (RABRTHER) ERBREIS 160,345,900 160,345,900
Ei EREHEER (RARTHER) HiE. RERVEES 11,690,668 11,690,668
Ei EREHEER (RABRTHER) RAEXRBERREN 1,294,920 1,294,920
Ei EREHEER (RARTHER) AIERFER 7,900,000 7,900,000
ER EREHESX (RABRGHER) ERBRETIS 34,800,000 34,800,000
ER EREHSE (RABRGHER) NEREBAR 24,550,029 24,206,647
ER EREHSE (RABRGHER) HiE. RERVEES 45,210,660 45,210,660
BEYMAEHRGE |TEREEE(FS ARAKERTERETRHHEBRAN PR 11,635,800 0
BYAEHEGE |TEREFE(FERH AEFITEREERHEIFEEEBRAN PR 0 0
BEYMARBHRE |V—Car ISV LHEREREE(RER) SroRT—LBIET BB EBERH PR 3,355,000 0
BEYARBEGE |V—Car ISV LHEREREE(FER) Y —rR—LEN BRI TR R EBERRN PR 2,420,000 0
BEYAEHRGE |TEREEE AEFITEREBRIFSUETE FAME R 0 0
BEYAEHRE |TEREEE ARAKERFTERIESIRALE PR 25,000,000 0
BEYAEHRE |TEREEE ARAKERTERIEI RIS PR 3,902,000 0
Bt EHRE | TERUEEE AAFIFELABENOYEERBSRIS TEREH FERR 10,780,000 0
I RBARKEHIERFEE RSB AN GAEE AIERERHR 451,000 0
I RBBEAKEMH IR REEEE) ) ERERE RN pRlllE:2 2 ES 495,000 0
I RBARKFHIER TR RSB BEN: THEE AIEERHR 9,900,000 0
I RBBEAKEMH IR KEEEE)) MBI GAE RN AIEEHER 495,000 0
I RBBEAKEMH IR KEEEE)) M) ERERE RN pRlllE:2 2 ES 495,000 0
I RBBEAKEMH IR REEEE) EZ): TER pRlllE:2 2 ES 4,400,000 0
I RBBAKEMH IR KEEEE)) MBI GAERER AIEREHR 462,000 0
I RBBAKEMH IR KEEEA)) ) ERERE RN AIEEHER 352,000 0
I RBARKFHIUERFEEEB)D BEN: THEE AIEEHER 6,500,000 0
I RBBARKEHILR KB E GEDID TAEA)IEY) AR AIBRHR 495,000 0
I RBARKEHILRREE GEDID LA ) AIBRRER 385,000 0
je3y) RSN HIFEEEX IBSHEME XAEIREER 26,300,000 26,300,000
je3y) BTREAM-HiIFEEEE IBSHEME XAEIREER 4,000,000 4,000,000
je3y) BTREAM-HiIFEEEE IBSHEME XAEIREER 4,300,000 4,300,000
SERE EREREEX (B HERERHESER) SHEHHELSE BHF 13,214,500 13,214,500
ER EREREE (F2ERE ERHRFLE EERE 5,833,100 5,833,100
ER EREREE G2 ERERE RliBREISE 18,263,300 18,263,300
ER EREREE (F2ERE SEHRFLS 11,757,500 11,757,500
SERE ERERER (F2HERERHESER) ERAEAR 13,219,820 13,219,820
B EREREE CLARRTET B iRR () & 2,468,300 2,468,300
B EREREE CLARRTET B iRR () 5,490,100 5,490,100
B EREREE CLARRTET B iRR () RIBBRE RN 25,862,100 25,862,100
B EREREX (F2MERBRIEER) BliBRREISE 91,561,800 91,561,800
B EREREX (F2MERBRIEER) SEHREFELE 5,753,000 5,753,000
B EREREX (F2MERBRIEER) s 128,099 128,099
B EREREX (EMERBRIEER) RIBBRE RN 12,112,100 12,112,100
B EREREX (EMERBRIEER) BliBRREISE 11,356,400 11,356,400
B EREREX (EMERBRIEER) SEHREFELE 5,372,400 5,372,400
B EREREX (EMERBRIEER) s 1,070,549 1,070,549
B ERERBE (FERBRIEER) FTHEEEXRBERRN 889,900 889,900
B EREREE (B ERERHESER) RAEEXBREN 5,751,900 5,751,900
B ERERBE (FERBRIEER) SEHRELE 19,990,300 19,990,300
B ERERBE (FERBRIEER) ERRFAEEA R 1,245,979 1,245,979
B ERERBE (FERBRIEER) fiEg 5,936,000 5,936,000
B EREREE(P2MEREHHESER) FHn 5,230 5,230
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Ei ERERBE (F2HERERIESEER) AIEEFER 788,700 788,700
Ei ERERBE (F2HERERIESEER) FRHEEEEBERN 177,100 177,100
Ei ERERBE (F2HERERIESER) AEXRBERRN 361,900 361,900
Ei EREREE (F2HEREFRHESEE) ERBREIS 51,950,900 51,950,900
Ei ERERBE (F2HERERIESEER) RiBRRIE 157,278,000 157,278,000
B ERERBE (F2ERERIEER) SEHBEIS 47,392,950 47,392,950
B ERERBE (F2ERBERIESER) ERRFAEEA R 739,452 739,452
B ERERBX (F2ERERAIEER) B EN 9,826,560 9,826,560
B ERERBX (ESMERERIESER) AIERFEH 1,946,900 1,946,900
B ERERBX (ESHMERERIESER) THBREZRRN 253,000 253,000
B ERERSX (ESMERERIESER) AERE 4 1,701,700 1,701,700
B ERERSX (ESMERERIESER) AR ERE 11,364,100 11,364,100
B ERREREE CLARETE T B 8RR (1)) FHn 7430 7,430
B ERRE RS X GLARETM T B 8RR (1)) FRERERBERY 477,400 477,400
B ERRE RS GLRETM T B 8RR (B1)) ERR AR 4,129,505 4,129,505
Ei ERREEHE R L AR T B 8R4R (3540)) B EmEN 1,852,065 1,852,065
Ei EREHER (BERE—TH4SHR) ERBREIS 13,593,800 0
Ei EREHER (BERE—TH4SHR) B EmEN 2,805,195 0
Ei BREFRE ERIER) FR) BREEIE 26,240,000 0
Ei BREFREERIER) R BREEIE 12,000,000 0
Ei BREFREERIER) FR) B EmEN 687,000 0
Ei BRMERIEEXFRER) BRMEHEISE 146,832,400 0
Ei BRMERIEEXRER) mislERAEXBER 440,000 0
Ei BRMERIEEXRER) bl HHEREBER 330,000 0
Ei BRMERILEXFRER) BERHEBER 902,000 0
Ei EREHEER (RARTHER) RIERFER 24,244,200 24,244,200
Ei EREHEEX (RABRTHER) REXBERREN 8,576,700 8,576,700
Ei EREHEER (RARTHER) THEREXBERN 2,162,600 2,162,600
Ei EREHEER (RABRTHER) RAEXRBERREN 28,531,800 28,531,800
Ei EREHEEX (RABRTHER) E3iE # 3,100,000 3,100,000
Ei EREHEER (RARTHER) RIERFER 429,000 429,000
Ei EREHEEX (RABRTHER) REXBERREN 853,600 853,600
Ei EREHEER (RARTHER) ERBREIS 363,000 363,000
Ei EREHEER (RABRTHER) ERRAREAR 13,654,567 13,654,567
Ei EREHEER (RARTHER) B EmEN 32,951,717 32,951,717
ER EREHESX (RABRGHER) ERBRETIS 154,276,300 154,276,300
ER EREHSE (RABRGHER) ERRAREAR 9,763,998 9,763,998
ER EREHSE (RABRGHER) B EmER 4,304,453 4,304,453
IEY REEAKEHIUERKEE(ZNE LER) KEMHLEREISE bRllEAR2ES 21,300,000 0
IEY REEAKEHIURKEE (X LER) KEMHLEAKABEBET bRllEAR2ES 726,000 0
IEY REEAKEHIEREEE (X LER) KEMLEARRAEBER bRllEAR2ES 693,000 0
IEY EA)EE ) ST E TEA)ER) R RN Rl AES 2,456,300 1,901,176
IEY EEA)ER)IRETE @ bRllEAR2ES 4,446,200 3,441,359
IEY TEA)ER ) SETE Ll Rl AES 3,738,900 2,893,909
IEY REBAKEHIERERE R TEA)IR) R EREN bRllEAR2ES 484,000 0
I REBAKEHIEREEE R TEANIR): TEE pRlllE:2 2 ES 15,300,000 0
I EIZHEHREEREHEE IBhRREREERETS RER 0 27,900,000
I NEEBEEE B BRI A E MIEHR 0 3,066,300
T, T BRI AEEREE B BRI A E MIEHR 0 2,294,600
I @A) ER)IRETE ToEA)IER): TEE pRlllE:2 2 ES 0 0
I R2BAKEN I KX GEDI) TEA)IED: TRE AIEERHER 0 0
etz EREHEE (AN=FsER) BIBHA RN ERER 0 473,000
ER EREHEE (KR B#R) THEREEEBERN i 0 981,200
ER EREHEE (AN=FsER) EiERE RN 0 28,883,800
ER EREHEE (KT L) REXBZRREN 0 435,600
SERE EREREE (KAN=maER) ERAEAR 0 10,489,629
B ERERER (KN=maER) B 0 1,205,030
B ERERER (KN=maBER) ERHRELSE 0 18,422,800
B ERERER (KN=maER) ERHRFLE 0 18,100,000
B EREREE@HHEER RARFFERIY EiEREEEN 0 36,577,000
B EREREE@HHEER RARFHEELIY ERAEAR 0 204,621,901
B EREREE@HHEER RARFFERIY B 0 38,174,247
B EREREE(@HHEER RARFFERIY # 0 6,200,000
B EREREE (BHBETHBER * 0 792,000
B EREREE (BHBETHBER ERHRELSE 0 21,569,900
ER EREREX (RABRTHEAR) s 0 4,236,700
ER EREREX (RABRTHEAR) ERBRETISE 0 71,357,600
ER EREREX (RABRTHEAR) 0 1,829,300
ER EREREX (RABRTHER) 0 271,700
ER EREREX (RABRTHEAR) ERBRETISE 0 310,980,800
ER EREREX (RABRTHEAR) s 0 11,325,084
EH EREREE (B ERERHESER) REXBREN 0 1,925,000
ER EREREX (F2MERBRIEER) THEEEXRBREN 0 177,100
ER EREREX (EMERBRIEER) RBRBREE 0 1,543,300
ER EREREX (EMERBRIEER) RIBBRERBREN 0 7,091,700
B EREREE (ESHERERIESEE) 0 2,271,500
B EREREE (ESHERERHESEE) 0 247,500
B EREREE (ESHERERHESEE) 0 2,836,900
B EREREE (ESHERERHESESE) 0 2,264,900
B ERERBE (FEMERBRIEER) RIBBREEB RS 0 26,824,600
B EREREE (EIEREHHESR) THESTEBERN 0 1,039,500
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Ei ERRE SR (ILRET4 T B ARAR) RERBERRN ERRER 0 242,000
Ei EREREECLRET4T BERR) # ERRER 0 166,403,880
Ei EREREECLRET4T BERR) ERRER 0 462,000
Ei ERERBE (G ERERGIESEER) SEHRIE ERRER 0 28,694,600
Ei ERERBE (F2HERERIESEER) ERHRIE ERRER 0 81,003,900
B ERERBE (F2ERERIEER) SEHBIE ERRER 0 54,245,400
B ERERBE (F2ERBERIESER) ERHRIE ERRER 0 14,766,000
B ERERBX (F2ERERAIEER) BERRIE ERRER 0 108,754,800
B ERERBE (F2ERERAIEER) SEHBIE ERRER 0 104,486,300
B ERERBX (ESHMERERIESER) BiERRIE ERRER 0 73,018,000
B ERERSX (ESMERERIESER) ERHRIE ERRER 0 14,470,500
B ERERSX (ESMERERIESER) BiERRIE ERRER 0 20,640,400
B ERERBX (ESMERERIESER) SEHRIE ERRER 0 5,800,000
B EREREECLRET4T BERR) ERBRIE ERRER 0 83,471,400
B ERERBE(FERERGIESR) ERR AR ERRER 0 2,826,998
Ei EREHER P2 ERERAEEX) ERRFAEAR ERRER 0 71,568
Ei EREHER EIERERAEEX) ERRFAEAR ERRER 0 5,750,592
Ei ERREHER GLARE4T BERER) ERRAEAR ERRER 0 2,951,912
Ei EREHER I ERERTEEX) EftEIGES ERRER 0 7,775,051
Ei EREHEE (I ERERAEEX) AttETI RIS ERRER 0 18,675,150
Ei EREHEE (I ERERAEEX) B EmEN ERRER 0 38,826,183
Ei EREHER F2ERERAEEX) B EmEN ERRER 0 1,854,600
Ei EREHER R ERBEHGEER) B Em TN 0 6,389,105
Ei EREHER B ERERGEER) B Em N 0 15,114,008
Ei EREHER R EREHGEER) BN 0 3,826,125
EE SERREHE R CGLART4T BARR) B 0 15,867,000
EE SERREHE R GLARRT4T BIRR) B 0 37,334,123
BYHERE Y—Lav IS L HEREREE(IH) —UavISY LB LERHERIETE 0 23,200,000
E=) FEFENEBEO—HLNRB/NEROMERRRB X AHEBRFRNPE: BRFEHKEHBERH(IR) 0 0
E=) FEFENMNEBEO—HLNRB/NEROMERRRB X AHEBRFRNPE: BRFEHREHBERHCIR) 0 0
E=) FEFENMNABEO—HLNMNRB/NEROMERRRB X AHEBRFRNPE: RERFETIBRERS 0 0
E=) FEFENMNEBEO—HLNRB/NEROMERRRB X AHEBRFRNPE: BRFREMAERS HES)E 0 0
E=) FEFENMNEBEO—HLNRB/NEROMERRRB X AEBRFRNPR: BREEERHEY 5P iR 0 0
E=) FEFENMNEBEO—HLNRB/ N EROMERRRB X AHEBRIFRNPE: BRFRIKERERERE 0 0
E=) FEFENMNEBEO—HLNRB/NEROMERRRB X AHEMRFRNPE: BRFRITREABIER 0 0
k=) FEFENMNEBEO—HLNRB/NEROMERRHB X AHEBRFRNPE: BREFXIHERAE 0 0
k=) FEFRNMEBEO—HLMNRENEROMERRRBE AHEBRFRNFE: BREFXTIFHTHERE 0 0
bt FEFRNMNEBEO—HLMNRENEROMERRRBE A EBR RN B RERFEIBRERIHEERBER) 0 0
bt FEFRNMNEBEO—HLNRENEROMERRRBE A HEMBR TR/ (G2EI) 0 0
bt FEFRNMEBEO—HLNRENEROMERRRBE A HEMBRHTER/NPE: (1) 0 0
bt FEFRNMEBEO—HLNRENEROMERRRBE A HEMBR TR/ (BRI) 0 0
bt FEFRNMNEBEO—HLNRENEROMERRRBE A HEMBR TR/ (BEEET) 0 0
k=) FEFRNMEBEO—HLNRENEROMERRRBE AHEMRFRNPE: BEREHH (EAIHI) 0 0
k=) FEFRNMEBEO—HLMNRENEROMERRRBE AHEBRFRNFE: FR (EATHED) 0 0
k=) FEFRNMNEBEO—HLMNRENEROMERRRBE AHEMRFRNPE: TR (EAREGD) 0 0
bt FEFRNMEBEO—HLNRENEROMERRRBE AHEMRFRNPE: EEREHR (RERROTEIBRERGES) 0 0
el FEFA/NMNPBEO—HLNRENPROMERBBE AHEMRFTRNPE: AEEEMHTR GBEI) 0 0
et INPRRRIRBUER X RABNER: BREZESRIE 0 0
el INPAST R R FARINER: BEREE ( 0 0
215 INPRRRIRBUER X RHENER: EHEE (RED) 0 o
el NP RERERE RENER: BRERE (BED 0 0
et INPRRRIRBER X WENPR: BE-RERES. GRERE () 0 0
el INPRRRIRBUER X WMENER: BE-REREHZE (BE) 0 0
el INPRRRIRBER X WENER: TS 0 0
et INPRHRERERE FENPE: BEERE (R 0 0
el INPRRRIRBER X FRNER: EHEE (RED) 0 0
et INPAST R R WANFR: REEBEVBTELRK (BF) 0 0
et INPR KRR SERE SEVNVER: EREE (BRED 0 0
e IR REAIEEE SN AREE (RE 0 0
e INPR KRR SERE EEFMPR: EHBE ( 0 0
e PR RERERR TESINER: RATHE ( 0 0
e INPR KRR SERE RNV REEML (RED 0 0
e INERKIRRSEE R FAFRNPE: TE-BAISEEEASRE 12,281,760 12,281,760
e INPR KRR SERE FEHFANER: HHIREREHBET D2 0 0
et INPR KRR SERE BNER: BREEMMLBRIE (RED 0 0
e INPR KRR SERE R REMMLZUE (BRED 0 0
ik INPRASRSE S KOREINER: (KEEENSE 0 0
FH INFRKRRSEEE BNNER 0 0
FH INFRRREREEE BINER: REERE (RED 0 0
FH INFRKRIRSEEE BRANFR: RERERREQ-128. @2 0 0
FH INFRRREREEE BRANER: BRERE (R 0 0
FH INFRRREREEE BN BRERE ( 0 0
FH PR TR I\FiEPRER: FKEESRE ( 0 0
FH PEREREREEE ELRRPER: BREQE 0 0
FH PR KRS REEE LREPER: HERER. SENEHENRE (R 0 0
e PERKSRBESE R ELERPPR: HKEASE B 378,000 378,000
FH PR KRS REEE FRhER: EESER-FROEENSRE 0 0
e PERKSRBESE R FAPEH: EHYUE (B 10,355,040 10,355,040
F1 PERTEREE MR BPMBEERRE (B%) 0 0
F1 PERKSRSEEE REPFR: REEMLZEUE (RED 0 0
F1 PERKSRSEEE REPER: RERMMMLEE ( ) 0 0
i PERKSRSEEE R REEREARE 0 0
5 PERKSRSEEE R TOEES (BED 0 0
5 PERKSRSEEE R BRYUE (RED BERBR 0 0
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e PERERERIEER s BRERE (R BERBR 0 0
s PERASRRESEX RBETHER: BREREHRIE 8,856,000 8,856,000
F PERRRETEEE HlhE: BERMLSE (GRED 0 0
e PERRRETEEE BILPER: BER KREEMLSE GRED 0 0
SR GRMRBRR |NERHERER AFE/MER: BRKRIETE 0 837,905
4 (R ) [INVERT R REV/NER: BBKRIETSE 0 840,704
FREMARER) | PERAHEBER WAL PR BBKRIETE 0 209,661
4 (R ) [INVERT R RN BIKRIETE 0 29574
4 (R ) [INVERT R SRNER: BIKRIETSE 0 543,533
SR RMARRN |NERHERER FEHE/NER: BRKRLETE 0 29,574
4 (R ) [INVERT R R EEFMER BRKRILETE 0 414,033
4 (R ) [INVERT R BAER: BIKRIETE 0 443,607
4 (R ) [INVERT R RFNER: BTKRIETSE 0 177,443
FERMARRN | PERHERER ERER: BBKRIETE BERBR 0 414,033
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